MaTH 234 WORKSHEET 13 . 6 DrEC 2016, TA: Jiuva WanNg

Problem 1 : Green’s Theorem
Compute the following line integral in two ways: by definitions and by Green’s Thm:
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! Problem 2 : Surface Integral Part 1: Area, Mass o \ 4+ -{-,
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Given the unit sphere Z(6, ¢} = { sin¢gsind |,0<8 < 7,0 < ¢ < 27,
cos f 2. 5in Ju- ‘6)--}
1. What is the normal vector Ty x &y 7 z -7, J' : s {E(!-"C)J At
2. What is the area by surface integral? SN PN
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3. What is the unit normal? olu’"- A 7,.

4. Suppose the density function u{f, ) = cos® 6, compute the total mass of the this unit
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